History Transition Work

Hi all,

Please read through the attached information sheets on the Welfare State and Post-war Economic Recovery and make a table of successes and weaknesses of the Attlee government from it.

With this information and the sheet on the 1951 election, you should then write a summary paragraph highlighting the most important reason that Labour lost the 1951 election.

If you would like to take this further, there are plenty of documentaries on the period – link below would be an excellent place to start!:
https://www.youtube.com/watch?v=zakZFbLjGsk

Thanks,

The History Dept.
